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Note : Four possible choices A,B,C,D to each question are given. Which choice is correct , fil} that circ‘lé in front of that question
mumber. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question..

The Score which occurs most in a set of Data is called : : ‘4.&&'( :‘_87 270040 e S J!/,u{? =d o 1/:}4_)':’
Median s (D) Geometric Mean 32 (C) Mode »b (B) Mear Ll (A) (1)

gt sy {J’wapJ y=c absi (2)

Graph of equation in for Yy = ¢ has y . co-ordinate

-1 @2 O c ® 1 @

Fory=2in2x~y=6,wehavex=? 2 :x=?e:,é/y==2u32x-y=6 ()
-2 (D) 2 (€) -4 (B) 4 (A)

D S (R) =7 JnR = {(4,5),(5,4),{5,6),(6,4)} S @
If R = {(4,5),(5,4),(5,6),(6,4)}, then Domain of R is :

£ U=1{1,2,3}and A = {1 } then U- A cP § Usa =2 e a={1} wu={1,2,3} 4 (5)
‘ AL O B t23) @) {12} @)

a of 2,6,18, is 30 (D) 160 (C) 161 (B) 162  (A) :gﬁast,e,ls,m-- (6)

s s 1
Fourth Term of a, = S S . 3 r‘/U‘;ZL{ L I, ?)

is 2
(2n - 1)° ) , 1 (2n -1)°
29 D) 0 (©) = (B - (A

Tax of the form Duties , Motor Vehicles Tax is called : : L{?;”(f uy K tﬁ Ll'/ JEL)T."JJ"" « 23 )]
Income Tax Jg/l (D) Indirect Tax w‘lug (C) Property Tax | 'd{!{ (B) Direct Tax g/ggwlzol/. (A)

7 - 2 1 1 -2 o

0 R g B 2! (a

[

n

In "a"" "n" is called ] uj&‘:i/”n" AP
Exponent li=/ (D) Radicand 244 (C) Base  sLI (B) :

Radical i (A)

The Return earned by the Bank on Loan is called : : g/jé'fgz,i%t'/gf’bu{:bh@ﬂﬂ{é.;gf;g (11)
Bonus % (D) Mark Up I Lh () Profit  Bir (B) Premiwn s (A) '

(1)

Loss is there when . : /FI‘.‘; by il ¢

SP = Cp edjed = 4528 (B) sp < cp ed it < yhad (A

8P~ CP esjed - e d (D) SP > Cp whied > 4 A ()

Zakat on an amount of Rs. 1,00,000/- is ; “~ ;J/L,(FJC { & 1,00,000/—;

o (Rs%,u) ‘2509/.~ (D) (Rs. &32)1500/- (C) (Rs. 4~2/) 2000 /- (B) (Rs. 4-1s) 25000 /- (A)

013 as Percentage is - : c‘-.vcp a J 0-13
10 % () 13 % (€ 30 (B 13 (A)

7

Fraction form of 70% is . 25 @ 372 {C) %— {B) 7 (A) g g_(ﬁd/g( 700/0;5 (15)
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General Mathematics ( Subjective ) | 5.5.C( Part-¥) | SSC-A-2021 (A:fl‘,"-’l)(}‘.l:/d/l
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Note: it ie compulsory to attempt { 6 --6) parts each from Q.No.2, 3 and 4 and attempt any (03) questions
from Part IL. Write same Question No. and its Part No. as given in the question paper.

“j(l' 31‘{;’! Malke diagram where necessary. &f&ﬂd/}/:‘uv {(Part 1) JJL"
Express 56 % as a Fraction in their Lowest Form. 14{5UU‘J‘ULA J S 569 (i) 2/‘Ulr
£ ot s SIS 48 % e AN S S )
If 48 % of the students in a school are girls, what percentage are boys ?
Rs. 150 /- , Rs. 275/ .Z5p ool U8 BolT e i § sl G
Find the Ratio of First Quantity to Second in its Lowest Term Rs. 150/-, Rs. 275/-
wied = 0600. 4n & = 0% £ Epiesied v

Find the SP when CP = Rs 9500/, Profit = 10 %
| Find CP, when SP =Rs851/-  fLoss = 8 % whjed = 8510 oo « gl = 8 % 28 Epbuied )
;:mr,o.,v s = 2760 [~ &ss S = 5 Y, J? ;:@:r!b’n:);/c;«f (vi)

E Find the 5F when MP = Ks 2760 /- , Discount = 5 % H
j ¥ 00 asas = i gwgt gt B s e B o 201 e ¥ 2t D
: Rate of Tea in Pakistan is Rs, 2° 1  per pound. Find the Fate per kilogram-1 Pound = 04536 Kg
S B E L LT [ 5% &5000% L5 o
Waseern Invests Rg . 5000/~ at 5’14;'% per annum profit. Find Profit at the end of the year.
;’.-ng"ylf” ! uL*/)L(,}?/)d st 72 /- gff &3, "6" g (ix)
Find the Ratio of "4 " Rupees each to 72 Rupees per dozen,
Calculate Zakaton Gold amounting to Rs. 11,10,000/- ug;rf}”’ W 4 by i U/ &t 11,10, 000/- (i) 3/1‘Ulr
“ZER P g 40 350 000/-20 2 ru:f’ AL Zuiss= iy
| Calculate Ushr on a Wheat Crop amounting to Rs. 3,50, 000/- produced by Artificial Resources.
-y g3 Kt fd 16 % - s 3500/ =F S S, i)
i

The Price of a Birycle is Rs. 3500/~ . Find Sales Tax at the Rate of 16 %.

{If}y (J,«T;H ub/ L,L»/ S 3 _s/:(w@z_;,,.u 200/~ w2 fgfg_ﬂ,fl_c‘.,b'/?g w6 Jazy e (iv)
Khalid works 6 Days - Week. Find his Gross Monthly Wage if his rate of Pay is Rs. 200/- per day.
A S0 L 3 35 iy gy 400 1200 1 ST 41000/~ Foress 45000/~ uTSSAG S @)

If Gross Pay of a person is Rs. 45000/-, then calculate his net take home salary after deductions

ez

t of Rs. 400/- as income tax and Rs, 1200/~ as Benevaient Fund.

Determine Radical and Radicand of : "!Ii .-é;f.‘g n3 sl s (V1)
7
- <5 e i g 2 3 T T4 1,5 3 Gl BB
Simplify and write in Exponential Form,. ‘5\1 2735 _éf‘ui’k}c‘ S s w2l é:/} {vii)
; . ) ) s
: Write Base and Exponent of 187, qéfi_r"fl” Vi d 0l JU1 6 18xT (i)
; Write the value of log52+13. /Z,-‘-/r’)i’”m' Lj/ log 52+ 13 (ix)
’ 5 N . ;
Find the A.M. beiween xz +x 4T, ex+1 .ufa’:f;’,.(s/h"‘ b3S Py L T+ 1, xz -x+1 (i) 440
Write the First Three Terms of B = In-5 .,éi,f,’g (’5’ ‘Jf L}f-f (f Ay = 3n -5 (ii)

e 3 K ey e X = {0,350, v={24,8} Jai
if XF{(),[&,S},YE {2,4,8} ther write twe Binary Relations in X x ™,
e wode ot axr o A={2,3,4},8=1{1,3} v

it A = {.’Z 5 & } , B= J{ 1,3 % then write twoe Binary Relations in A x B,

Represent the point D {6,-3) on Graph Paper. ..é/;U; & F""’l’f s D{(6,-3)& v)




 Arvues 5 | BpP-Gl-2)

Convert 127°F into "C if °c- 3 (%-2) i ot 0 121°F ()

Find the Median for the Data 3,5,6,8,8,9,10 -’c;:p“’ ,glb/:b/3,5,6,8,8,9,10 S (vii)

Find the 6th Term of a G.P. - 53 ,-6,~— -’;,»Pﬁwsu’ ~~32—,3 y- 6, A A (vidd)

7
-zgdwuétﬁ»u:A g A={-2,1,4} A i

Write Two Binary Relations in A if A= { -2,1.4 }

[(Part 1I) (.2
() <Ltk AT 61 niung 920 £ « LN TS 720/- (bt HSIE AL (D 54l
A table costs a Carpenter Rs.720/- to make. He sells it for Rs. 920/ What is

percentage of profit he earn ?

.

ittt S enfidl 3l 2% S8 nedelfasd 15 % ¢ dbs ¢ o] )iy

@ f by

If 15 % Discount on M.P. of a Heater is allowed and still makes a profit of

2%, if it is sold on M.P. what is profit percentage ?

It Stle U S U o LSS 2ol Seedlg-247,50,000/- LA S 6L
@ e A

Workout the share of each if the inherited property amounting to Rs. 7,50,000/-

is left by a deceased , who also left a widow , two sons and one daughter.

@ s o £ A IS

Solve ?,_.9.7_..’.(___——';% with the help of Logarithmic Table.

b 12% LA bl L s Sz e ¢ Figl Boonsteg 55/-L ablglakl (I 14
@) el n

A Financial Institution charges Rs. 55/- Simple Profit on a sum of money which

is borrowed for five months.Given that the rate of profit is 12 %o per annum.

Find the sum of Money.

(&) Which term of an AP. 5,2,-1,— is -1187 fo - 118 bsef §5,2,-1,— 0T (D)

I Qeresd &as 3000/- (Fuidset Sl g 4,30, 000 i § Pt () 840
4) ¢ et S0l ﬂ/{l U:’/LC;'J 4.5% !

The total Taxable income of a person is Rs. 4,30,000/- If he is given Rebate

of Rs.3000/- on the Tax chargable then work out the amount he pays to

pay as an Income Tax @ 4:5%

@ If A={2,3,4},B={3,6,9,12},C={4,6,8,10} S

then verify that AU(BUC) = (AUB)UC S EEA n
(4) Sketch the Graph of : y= ——;: —-;51- -é_l'm_j‘f ¢ eblfl 9w
@) -.u:/h{ }7’0)( 2LES S e 6{5} )

Draw a Histogram to represent the given Frequency Table.

[Age (In Years) (Urus\ )10 — 15 120 — 39|40 - 59]60 --- 79|80 --- 89
r Frequency ) 43 24 17 10 6
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number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark iin that question..
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Note : Four possibie choices A,B,C,D to each question are given. Which choice is correct, fill that circle infront of that question

7 2v i s 7
720 in terms of Percentage is: 20% (D) 20 (C) 35 (B) 35% (A) @ <X K J e 20

140
@

............................................. u.?z;f[ i e T S o

In a Proportion a:b :: c:d, "a"and "d" are called

@)

) Consequent ) wa”( (D) Antecedenl w)(f(f‘ (C) Means u“”: (B) Extremes u”/’ (A)

Zakat on an amount of Rs 1, 00 000/- is § « d/ J 54 ¢ & 1,00,000/-
_(Rs. £.5/)15000/- (D)  (Rs. &) 2500 /- (C) (Rs. 4-1/) 2000/~ (B) (Rs. &2 ) 25000 /- (A)
Find Profit % = ? where SP>CP : D esspad > g ed Sl o A
Profit 5 Profit x CP pi2d X oAb
= @ SN
cP yy.OF 100 100
Profit o SP x 100 100 x =35 /f
x 100 — x 100 (D) - ——————e Q)
cr Al Profit % + 100 100 + % @i
The Percentage of Proflt/Mark Up charged is called : u‘¢f s U7 JJJ:“’)J_AJL ’ dl/

Principal i} (D) Interest s (C) Time ﬂ (B) Rate <&y (A)

The Periodic Instalment to be paid by the Insured is called : S qf w3 u((bl i.u L P
Profit b (D) Discount &f3€3 (C) Premium ({/ (B) Bonus J‘)’

Taxes of the form Duties , Motor Vehicles Tax are called : § U’JIJ& - J’ J &J{ﬂ/r f:’;
Income Tax Jcﬁ( ' (D) Indirect Tax JCJ»«LJL C) Property Tax fd/‘/ (B) Dlrect Tax (

The Tax Charged on all the Taxable Income is called : ? c_.b‘llf 08 Lb‘H@/ dﬂ R J‘: Y2 oSS
Income Tax JCH', (D Excise D tv (}!5 Lf ) Sales Tax JC)/ (B) Direct Tax gfc./UoLc (A)

Wz = < 2 1 V2 =2

2 o T g 2 @ ot -
lnannlscalled 4{ o n : n i
oo N W ASE L (D) Radi 4% (C) Exporent  Ved (B) Radical /i (A)
For 2,6,11,17 , —=mm- ol 8 3 Dt =l a u'z 6,11,17, - (11)

22 (D) 24 (C) 21 (B) 30 (A)
G.M. between -3 and -12 is : e b wes £ 212 i -30 (12)
t6 (D) +3 (& %9 (B) +36 (A)
o UC) (A x B)L}. O . du/ T (AUB)UC (13) ......
Commutative Law  Jlael (B) Associative Law (itretl (A) |
... mtersection of Sets UULyf (D) Demorgans Law oLIillASs ()
If y =3x,then for x = 2 ,we have y = ? : EEE yu’fx-zuy 3x /! (14)
................. 2?2318 8 B 0 A
et LT PSS S S A LSE oR S ed A18)

If all numbers in a set are added together and then the total is divided by the number of scores in
the set is called

Weighted Mean lwldlul -1 (B) Mode wbk (A)




( Group II s.ffwr) { | 60 /"/J ; & 210 -“:’:J w

[ 4}

> o . > PR o 5 . 4 N
LIS wtrte M S Fo e SIS fr MR LT (B )Ll U 4 1 3 2 A e oé ol ¢
%w 'p rq l.z ‘ i Coisg ,ga.,!’y:f.;f W e Cyﬂ/{‘jf,/pf/:"d!y“du(é( t} 174

Mote : It is compulsory to atternpt (6 --6) parts each from Q.No.2,3 and 4 and «ttempt any (03) questions
from Part Il. Write same Question No. and its Part No, as given in the quest:

36 =2x18 | Make diagram where necessary. wuf"ézfyndu/‘ul‘z {Part I) (J.’Lv"

Express A{B%—% as Decimal, ws’,f::g,ziuﬁzm*w ;’/48_:.2;_0/(: 0 24y
Rs.150/-, Rs. 275/ -&hp# end ST o ,uztf/» S ey D

Find the Ratio of First Quantity to the Second Quantity in its Lowest Form. Rs. 150/~ , Rs. 275/-

If a:b=2:3 find the Ratio 6a: 2b . L 6a 20 Jra b =23 A Gin

“,Z‘Er:/(’jb" »:;.w‘ Wi £ &2 4/- i&d% 2l 2.4::! 24 &2 72 /- (iv)

Find the Ratio of Rs.72/- for 24 to Rupees 4 each. !
whed = 480/ s o B = 3% £ Epes )l )

Find the 8P when CFP = Xs 480/ , Profit = 3 % >
o deidfn = 260 & o b = 5% B HEpesied ()

Find the 5P when MP = Rs. 2760/~ , Discount = 5 %
 Find the CP, when SP = 851/, Loss = 8 % whjsd = 851/ ¢m «wbd = 8 % } gy ped (VD)
b B el 12 % Ee oLy &oss 54000/- (vil)

Find the Profit on Rs. 54000/~ for one year at 12 % per annum.
(H 0. 4536 = Fiyfl B gt B b Se s 201 g bt (iv)
Rate of Tea in Pakistan is Rs.2.1 per pound. Find the rate Per Kilogram when 1 Pound = ‘0. 4536 Kg

3 9 15 " " o 3 915 (i) 3/
Simplify \[125 X"¥" and give answer in Exponential Form, ,&%;“q,)ff«,}(’tf Ve § izl 257 S ‘[125X y~ @ s

. -2 -2
333 3
; . 27 s B as 27 x -

ESmlpllfy ("""“\‘(";‘} and express with Positive Indices, . 2‘;{{} ¥ ot ol ol 25;/‘5 5 (—"—3—) (ii)
! 8a 7, 8 a
!

Write down the value of log6- 304 . <2£G-:.-x§J log 6 « 304 (iii)

1 . ;

Solve. 2l0g5 +log8— = log4 &S ()

: |

o % o . .o z
L 2 @ s ST i e &l 400 15000007 s expdl i din LTS )
If a Deceased left a property of worth Rs.15,00,000/- Workout the property , if he left behind a widow.

Calculate the Zakat on Gold amounting Rs. 15,00,000/- 55(}’”(3;{ S 35 7 .yf,.,:;JLd.;,u 15,00,000/- (vi)
Tl o + w8 /s A 3 4 i
LB JC) 6% ,vfd/g/g)f Ae i u 3500/~ oot J(f/; Lol (uii

= // e

i k3

The price of a Bicycle is Res. 3500/ if 16 % Sales Tax is charged , then calculate the ;amount of

; Sales Tax.

' S el BT 1T Lo g g 200/ S bIPE s 6 Ui G i |
;Kha]id works 6 day - week, Find his Gross Monthly Wage , if his rate of pay is Rs.200/- per day.

| L H 432 3,50,000/- Sy il il DU (ix)

Calculate the Ushr on a wheat crop amounting to Rs. 3,50,000/- produced by Artificial Resources.
giehe ) e 1,438,507, g A @) 4

Find the term indicated the sequence 1,-3,5,-7, e P

Find the next four terms in 1,3,7,15, 31, ~eoe : -é;,‘”g r’}; z&g (}T! Ue 1,3,7,15,31, - (ii)
Find the 5th term of G.P. in 4,-12, 36, - ; ,«gggﬂwj Ly 4,12, 36 , - Jd A (i)
Find the G.M. of -2,8. e Ll 22,8 (i)

Sy e A e A= {o2,1,8) S )

If A = §:~ 2,1,4 } , then write two Binary Relations in " A",

n paper. (} é /d/’

Tot ey o e T e e e T e R A G RN WA e T ST R B 1 4 - pr e b




:' u.n.:i‘u. 14 | wp—qz"u
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Represent on Graph F(-3,7) ; _,2;_{/;\1; 4.)"/ s F(-3,7) (vi
o \ o " #
Convert 127 F into C if : 0c = 3 (% 32) Sidde 2% 18
: 1P}
For the Data 3,5,6,8,8,9,10 find Mode. g5 ol £3,5,6,8,8,9,10 syt (viid)
. 974 wisdE Ut XxY 7Y = {2,4,8} ¢ X= {0,3,5} S (ix)

If X= {0,3,5} 3y Y = {2,4,8}then write two Binary Relations in X x Y.

H_(’Iilrt 11 )j.”»*ia

4y gL L 136 Ut 7 3 ntTE A2 22400/- 2Lz, w8 KUl 14 Sl (L sAr
¢ T

If the stay of 14 men for 8 days in a hotel costs Rs.22400/- , find the cost

for the stay of 7 men for 13 days.

Al Sespyedibtn I U 2% SELE e g 15 % ¢ et ¢ okl /1 ()

@ ' sl

If 15% Discount on M.P. of a Heater is allowed and still makes a profit

of 2%, if it is sold on M.P. what is profit percentage ?

oL L e Jhss 20,00,000/- LU T une il » osp k] ézru‘.,f D) 62
) gl

The inherited property amounting to Rs.20,00,060/- is left by a Deceased.

He left behind a widow and two sons, workout the share of each.

3 - v o
) 521 x 10" x 12 -gdwﬁ}U"Vv'ﬁﬂ' 25'-//:‘; )
2 x 10
521 x 103 x 12
Simplify and write your answer in Scientific Notation. 5 S
X

@ L e VGLLL S ey 750/- Lol ¢ Ul 6% DL f 421250/ (D 14 )
How long would Rs.1250/- have to be deposited at 6% per year simple
profit to gain Rs.750/- simple profit.

(4) Find Six A.Ms between 5 and 8. -Ef:(r’l" b * Z c}.l{wf- 8.5 ()
§ 4.5% 4 GaT3Ut-g-4- 1,50, 000 S e doss5,25000/- SASESAG ) 8y
(@ oSl oSS (S g 10,000 B it

The total income of a person is Rs.5,25,000/- where as exemption is
Rs.1,50,000/- Workout the tax payable @4-5% alongwith the income tax rate,

if Rs.10,000/- has already been deducted at souifce as income tax.

@) If A= {2,3,4},B={3,6,9,12},C={4,6,8,1o} S
then verify that AU(BUC) = (AUB)UC S et In
(4) Draw the Graph of y = ~—;— __% ~é—§kJ'/f () 94
SitsJE5 § i LudY 100 Uhe-&b ) L Fesss ¢ sl éos ()
@) e

Construct a Cumulative Frequency Polygon ( that is Ogive ) for the given Data.
The table gives the disgribution of Weights (Kg) of 100 people :

[Weight (Kg) (Fp f #5)olil [50 --59 60 - 69 70 - 79180 - 89 [ 90 -- 99100 -- 109
T 15 30 35 15 3 2




